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Candidates are required to give their answers in their own words as far as practicable.

1. Answer any five of the following questions: 5x2=10

@ @ ¢ T 207 e ae

a) What is Business Economics?
I YRS HICH JCe?

b) What is an expansion path?

STRAATIY A PICP JCeT?

¢) Mention two limitations of profit maximization hypothesis.

YAERIRSIN OUgd 3fo el Sray 4|

d) What is demand forecasting?
BIRRATRNN FICP A7

e) Mention two methods of risk measurement.
3 AT 76 FaifS Srere 41

f) Write down two uses of linear programming problem.
TFAAAF (AN 76 TI=F Srae T

g) Mention two methods of estimating cost functions.

T WCAFHF [T T H6 afo ey 4|

h) What is two-person zero sum game?

RGN Gl FIE ICA?

2. Answer any four of the following questions: 5x4=20

W@ 8 b At Ted ws)

a) Discuss the properties of a Cobb-Douglas production function.



FI-TGIVET G AN DD FIP CT?
b) How the business economics is related with other subjects?

T WLINSF Y Iy ([ e saFe?

c) What is sales maximization hypothesis?

Ry S~ og IS A2

d) Explain the maxi-min mini-max principle with a suitable example.
GATRATTR S FE 8 SRIAR-SHA1EF NS 94 41

e) Explain the relationship between a primal and dual in L.P.P.

STRACIAP (AT 4 ARV & G I NT TN 74 FH |

f) Sales of a product given below:
Year 1992 1993 1994 1995
Product sales(Rs.)  1,00,000 1,50,000 1,25,000 1,75,000

Fit a linear trend and forecast the sales for the year 1996.

fJfon IR R RO A6 (M8 24 1900 SI34PF SFOUAT Wy 4 Ny
1996 S AWIKT [Fa AR [Nefy F71

Sales of a product given below:

Year 1992 1993 1994 1995
Product sales(Rs.)  1,00,000 1,50,000 1,25,000 1,75,000
3. Answer any one of the following questions: 10x1=10

®EH 5> T AeF Tex we
a) What do you understand by demand forecasting? Explain the different methods of

demand forecasting.

BIRRAR AN TS B (@R ? HIFRAR AN A7 A GO SCATHT FCA.

b) One businessman has to decide between two projects. The return from these two projects

are given below:

Project A Project B




Profit Probability Profit Probability
100000 2 40000 3

50000 4 10000 4

0 3 -10000 2

-30000 i -5000 A

Which project should the businessman choose if he wants to maximize his profit?

JFGH IS G0 FIGE N (FN6 A2V FA @l (%7 90 211 {6

NG CESI ERICIGRIACEEa b

A PG B PIG
Ty AGINT GIS) AGIANT
100000 2 40000 3
50000 4 10000 A4
0 3 -10000 2
-30000 d -5000 A

AT A8 FACS B (FI FIGI6 OIF A= FT Of69?
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